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Number Sense 1: Proportions

DREW, ALAMEDA, AND JASMINE IN:

I TOTALLY
CANNOT
READ THTS!/

REMEMBER MY
GRANDMOTHER
USED 3%,
> CUPS OF FLOUR

TO MAKE 8

SERVINGS.
WHAT DO
DOZ .
..r"'




Number Sense 1: Proportions (continued)

WHAT DO
yOu MEAN,
JASMINE?Z

WELL, WE
KNOW THAT
3% cups
MAKES 8
SERVINGS.

LET 'C”
STAND FOR
THE NUMBER

OF CLUIPS WE
NEED FOR 12

SERVINGS.
\1‘

SET UP THIS
PROPORTION
LIKE S0. ..

THERE HAS TO BE A
BETTER WAY THAN
THIS/

yOU WANNA TRY,
MATH WHIZ?Z




Number Sense 1: Proportions (continued)

LIKE T WA5
SAYING. . .
33& x\2Z =42 FIND THE LD-
CROS5
PRODUCTS.
= WRITE AN
% xC=% EQUATION 5TATING
~ THE CRO55 PRODUCT5
P\ ARE EQUAL.
o
e
- ‘ﬁ%, L\% — D1 Cup
YOU GET AN IMPROPER
FRACTION. CONVERT IT TO
"EIVéE%E“gC” A MIXED NUMBER
) IN IT5 LOWEST TERMS
AND BINGO!

35& é‘gmb“g'j ‘%’T, 30 MINUTES LATER. . .




Number Sense 2: Order Rational Numbers

GABRIEL ano RONDELL ix:

“BEST DEAL
IN TOWN”

| —

MAN, ALL THESE STORES
ARE SELLING THE MF¥
FLAYER WE WANT, BUT

x{ﬁmemvmmﬂ

YEAH, ANP EVERYONE'S
60T IT PISCOLUNTED A
PIFFERENT AMOLNT, TOO!

?——
THIS 15 ERAZY/ g

WHAT PO WE PO,
JUST FILK ONEZ

NO WAY! 1 PON'T
WANT TO FAY ANY MOKE
THAN I HAVE TO.

WE NEEP TO FISURE OUT
WHICH STOEE 15 ACTUALLY
SELLING IT FOE THE
LOWEST FRICE.

YOUR TURN!

NOW 1T supTD YOU
10 SOLVE THE PROBLEM!

OF WE £ouLe Just
SFENP ALL THE MONEY
ON HAMBURSERS!




Number Sense 3: Divide Fractions

Jeremy & jeginu In... -

ot
M@

Jeremy, how is our

e .
] _/ lockers coming?
7 ,

A petition for the wider

Really well, Reginal Right
now, I'm trying to figure
out how many lockers
will fit along the wall.

=

= We know the And each new locker
/ P length of one will be 1+ foot wide.
y ¢ ,//f/ wall of lockers Currently they're 2
_ - is 107+ feet foot wide. -
@ \@> long... i
po
n
® ) :J:—_
8 e [ —
e

| We also need to determine the difference between the
{ number of lockers we currently have and the number of
\_lockers we'll be able to fit with the new width of 13 Fee'r_..;#

Your turn!
Now it's up to
you to solve
the problem!
-




Nuber Sense

0 Your OWise

Read each question. Then fill in the correct answer on the answer
document provided by your teacher or on a sheet of paper.

Marcello earns $108 for working 8 hours.
Which equation could be used to find
the amount A, in dollars, that he earns in
10 hours?

A 108.8 = 10A
108 _ A

B 8 10

C 84+10=108 + A

D 8A =108 = 10

The density of oxygen is approximately
1.439 x 1073 grams per cubic centimeter.
Which of the following represents this
number in standard form?

F 1,439 H 0.0001439
G 0.1439 J 0.001439

Point P on the number line best
represents which square root?

4.

A /35 c V51
B V47 D V60

A bolt of fabric 12% feet in length will be

cut into five pieces of equal length. How
could you find the length of each piece?

F Subtract 5 from 12%
G Divide 12% by 5.

H Divide 5 by 12%.
J

Multiply 5 by 12%.

@ List 3.7, —3%, ~3.1, and 3% in order

from least to greatest.

1 44
A 3.7,-31, —35, 35

1 4

B —35, -3.1, 35, 3.7
1 44
C -31,3.7, —35, 35
D

1 4
—35, -3.1,3.7, 35

Darla bought three notebooks priced
at $1.29 each and five pens priced at
$0.79 each. Which of the following
equations can be used to find t, the
total cost, in dollars, of the items she
bought?

t=3+129+5+0.79
t=8(1.29 + 0.79)

t = 3(1.29) + 5(0.79)

t =5(1.29) + 3(0.79)

I o

Which fraction is between % and %?

9 3
A 2% C
4 7
B5 D1

—

A hotel charges $255 for a three-night
stay. At this rate, how much would a
five-night stay cost?

F $1,275

G $850
H $510
J $425



Algebraic Thinking 1: Rates

Talkis Cheap

| know. I've uged up all my minutes for the
month already. Its too expensive to

talk after my minutes are gone., =

Um, Roshanda,
I'm pretty sure your
phone is ringing. (

You should get
a better plan. Are
any of thece cheaper

Plan :ﬂ-l $3&0ﬂ for %ﬂ . per minute?
Dlantt2  $H000 fu 500 mortly

ranknhy
Plan #3 $E;Dm for L@nums‘ [/J

Well, right how
| pay $40.00 for
450 minutes
per month.




Algebraic Thinking 1: Rates (continued)

]
o
]
i

ie £35 for 400 winutes. Dividing
35 by 400 is also about $£0.09 per minute.

Let's see, —
| £40.00 ]
“ABOminates 0 0Apermimite. 7

The first plan

Hmm. lts overall cost is
[ cheaper than my current plan, but
it's the came rate, and gives me less
minutes. | definitely need more
minuteg, 'mon the
phone a lot.

Uk, Rashonda,
| know. | think this is the
first time we 've talked
in two weeke...

&?}; Hold on, I'm trying to
L}

keep these numbers straight.

Dividing $40 by 500 minutes
o ~\ for the cecond plan gives a rate of
- : $0.08 per minute.

~  — |

...and 've been
hanging out with
you, literally, the

entire time.

GREAT CEL
FHOME PL

E3500 [
L4000 lor
SG0.00 $or |




Algebraic Thinking 1: Rates (continued)

But, yeah that is
a better deal by
the minute.

F " Yeah, but is it
the best? The third plan is
£60 for 1,000 minutes.

£60 +1,000 = $0.06,

I'll go with
the third plan. This way
I'll be able to talk longer and
pay less per minute.

Oh great.

| guess the only way
we'll talk anymore is
if | get a cell phone.

}&1

Y

= |




Algebraic Thinking 2: Arithmetic Sequences

ETHAN AND FRANCISCA IN:

WORKING [
WEEKENDS AT THE X
DRIVE-IN ISN'T 50 [
BAD, EH,
FRANCISCAZ.

= AS SOON A5

THE CARS S5TOPI
COMING, WE CANID
WATCH THEL

\p”~ OPEN SPACES?
ALL THE ROWS ARE
FILLED EXCEPT THE
LAST ONE. THEREID
ARE NO CARS IND
THE LAST ROW.

[y

HOW MANY
ARE LEFTZ

SPACES
IN THE

EACH ADDITIONAL ROW , COOL/_NOW
HAS 2 MORE SPACES. / < WE CAN

_ m S FIND THE

— R NLIMBER OF

n.ao= /X SPACES IN

THERE ARE 7 see THEN_, B THE o,
8 SPACES IN PATTERNZ ) < '

THE FIRST .

"VOUR TURN/

[% | 728 NOW, IT'S LIP TO YOU To|
< _}‘ 26K N

S50LVE THE PROBLEM.

1 AN 1

ROW. THERE
ARE 10 IN
THE NEXT.

10



Algebraic Thinking 3: Ratios

E WE‘LL HAVE TO MAKE OUR OWN IF
TER, YOUR IS HE MAD \ I KNOW. IT’S

DAD MADE ATYOUOR | A BUSTED WE’'RE GOING TO PRACTICE FC’D
THIS RAMP? )\_SOMETHING? | LEG WAITING

_ofAR TRIPLE DECKER
the AW > L

eZIL
gﬁ‘{;ﬁgmmg 0ZA!

RACHEL, JUN, AND TERRENCE!

ARE ANY \ | WE HAVE 3 BOARDS, T g
MATERIALS RACHEL. THEY ARE... o TQT 2,

AND 712* AN
>

==
' LONG.

57 ARRER .._. - ‘llﬁh &

"AND HERE’S SOME LUMBER WE
CAN MAKE THE SUPPORTS WITH.

(T IEITY PR e A vy 2

LET'S MAKE ‘EM EACH THE HOW STEEF BUT THE BOARDS ARE ALL
10 FEET TALL! WHAT? THEY ARE. DIFFERENT LENGTHS.
J [}
[~

THE SKATEZILLA RAMP§

SO THEY/LL

= < G& | ARE AT AN ANGLE RATIO
e oo | o £reo0mes || SRS G
BECAUSE THE INCLINE 2
RATIOS WILL BE DIFFERENT. HAVE TO BE & TOO. HEIGHTS.

WELL, HOW DO WE FIGURE OUT
HOW HIGH EACH ONE SHOULD BE?

(o

YOUR TURN!

NOW IT'S UP TO
YOU TO SOLVE
THE PROBLEM.

THE RATIO
OF HEIGHT
TO LENGTH

11



Algbraic inking

®On

Your OWieco

Read each question. Then fill in the correct answer on the answer
document provided by your teacher or on a sheet of paper.

a A sequence of numbers was generated
using the rule 5n + 3, where n represents

12

a number’s position in the sequence.
Which sequence fits this rule?

A 5,8, 11,14,17, ...

B 8,13, 18,23, 28, ...
C 8,11,14,17, 20, ...
D 5,10, 15, 20, 25, ...

A survey of 250 students found that
28 were left-handed. If the survey is

representative of the entire school, about

how many of the 1,575 students in the
school are left-handed?

F 176

G 223
H 492
J 518

The following table represents a
relationship.

X y
—2 5
—1 3

0 1
1 -1
2 | -3

Which equation represents the same
relationship?

A y=x+7
B y=2x-1
C y=—-2x+1
D y=-2x-3

The following graph represents a
relationship?

Which equation represents the same
relationship?

F y=x+3
G y=x-3
Hy=-—x+3
J y=—x-3

Gina’s Pizza charges $15.98 for two
large one-topping pizzas. At this rate,
how much will six large one-topping
pizzas cost?

A $39.95

B $47.94

C $63.92

D $95.88

Let n represent a term’s position in a
sequence. Which algebraic expression
can be used to find the nth term of the
sequence below?

13, 19, 25, 31, ...
n + 6
6n +7
n+6
n+7

-«ITom



Geometry 1: Scale Drawings

Migueland 3 T E of SCALE

We need a We both like \
good idea for architecture, so let's
our geometry make 3 scale model
project. of a building.

4 My mom works
in the Central City
Tower; and she told
me that it's 810
feet high!

It's the tallest
building in town!

Not too tall... \
We have to carry
it inte class/!

[/ What height
should we make
our model”

On the other hand, it has

to be large enough to see!

That's perﬁacr:.‘\

we'll be able to
carry our model on
the school bus/

How does this
18=inch ruler look

Now we just
nave to choose
the scale.




Geometry 1: Scale Drawings (continued)

wWe'd have to go

much higher than that!

How does 1 inch = 100 feet
work out?

Let's try
1 inch = 10 feet.

If we did that, our
18 inch model would
correspond to 18 x 10,
or 180 feet.

That would make our
12 inch model correspond
to 18 x 100, or
1,800 feet.

Then we can
solve the eguation

can set up a
to find our scale/

That's much too tall!

Thhe ar:t:lua[ height [-:af

the building is only ortion!
810 feet. We should be able prop ’
to solve this without

guessing and checking!

14



Geometry 1: Scale Drawings (continued)

First, we find the
cross products of
the proportion.

Next, we divide
each side by 18...

19 in _}'_Eﬂ,'_ 1% in- Lin.
glo0ft.~ X Fft. Blort.~ X Ft.
1¢x = 810 19x = 810
18% _ ®10
1% 18 5.6.- |
=
AN AN

So, If 1 inch on
our model corresponds
to U5 feet...

Now that we've
finished our model,

...Qur 18 inch medel
we deserve a treat/

would equal 18 ¥ 45,
or 810 feet tall, which
is exactly correct/

Arnything

15



Geometry 2: Pythagorean Theorem

THOMAS,

AURELIA,

& JORGE
IN THE

LOXNG

& THE

SHORT

OF IT

WHAT ARE MY NIGHT- YOU WERE GOIMNG
YOU WEARING, VISION TO BRING A
THOMAS? GOGGLES. CALCULATOR!
| I HAVE
THAT TOO,
AURELIA.

I BROUGHT
MY COMPASS.

AND I HAVE WHICH WAY
MY PEDOMETER. IS NORTH,
JORGE?

o
BRACE

WE'VE WALKED
EXACTLY HALF
A MILE.

WHICH WAY NOW, 6UYSs?
WE CAN WALK IN ANY
DIRECTION WE WANT.

NOW WE'VE WE WALKED A TOTAL
WALKED OF TWO MILES FROM
1.5 MILES EAST. || THE PARK ENTRANCE.

16

YOUR TURNI

DO WE
HAVE TO || HELP US CALCULATE
WALK TWO THE SHORTEST
MILES PATH BACK TO
BACK? THE PARK ENTRANCE.




Geometry 3: Reflections

and kiseg in. TILE STYLIN

We get to VYeaf and with scuare
create the floor tiles in a square lobby;
design for our /\, We can make it nice
school's lobby/ and symmetrical!

'

How do you
like my sketch:,

It's nice, Jonas, but\
it's 12 tiles wide by ©

tiles high. We need a
12 by 12 tile layout.

Latonyar

F %

We could use it as the
top half of ocur design,
and then refect it for
the bottom half.

0

G @

The bobtom edge of the skebch can
represent the x-axis on a graph.

So, a vertical
line in the center is
the y=axis/

With a
dot for the
origin/

HHOA

2 Qg (Y
~ZiR

—f Yes; Kelse
likes dots!

‘ A

a, -

To graph the bottom half of the design,
We can reflect the top half across
the x-axis.

Your tum! Now it's up to YOU

to graph the entire design!




Geometry

®On

Your OWieco

Read each question. Then fill in the correct answer on the answer
document provided by your teacher or on a sheet of paper.

12,

18

Natalie would like to carpet her
basement. The dimensions of the
basement are shown below.

16 feet

10 feet
5 feet

H

22 feet

How many square feet of carpet are
needed?

A 60.81 ft? C 176 1t?

B 88 ft? D 205 ft?

Which set of numbers below could
represent the lengths of the sides of a
right triangle?
F 8,15,17
G 6,7,8

H 5, 12,15
J 3,4,4

What are the coordinates of triangle PQR
after a reflection across the y-axis?

y

A I\
1/ \
o) \ X
R \\\
Q
A P(1,-3),Q(@0, 2),R(-21)

B P(-1, -3), Q(-3, 2), R, 1)
C P(-1,3), Q(-3, —-2), R, —1)
D P(1,3),Q@0, —2), R(-2, —1)

©

6.

Which of the following points lies on the
line graphed?

0 X
F 0, -1) H 4, -2)
G (3,3 J (-1,3)

A circle with a radius of 14 yards is
dilated by reducing its radius by 35%.
What is the radius of the dilated circle?

A 4.9 yd C 12.3yd
B 9.1yd D 18.9yd

Triangle KLM is dilated by a scale factor
of 4 using the origin as the center of
dilation. What are the coordinates of the
triangle after the dilation?

y
K
//0 h
C—T M
L

F K(1, -2),L(-3, 1), M4, 0)
G K'(1,-8), L' (-3, 4), M4, 0)
H K4, -2),L(-12,1), M'(16, 0)
J K4, 8),L(—12, —4), M'(16, 0)



Measurement 1: Volume of Prisms

RAMON, YOSHI, AND KEITH IN

- .|
-
e

g

IT'S TOO HOT

FOR DRAMA,
YOSHI.

( }]

Survwmg Sum

MUST...
REACH... WATER/

o

A 3
T

SN

- )

4

GEASFY

I TELL YOU, WHAT
THIS APARTMENT COMPLEX
NEEDS IS A POOL.

THINK WE COULD
CONVINCE THE
MANAGER?

LOCK, I'VE GOT
BROCHURES,
AND EVERYTHING/

THAT PATIO HOW
WOULD BE THE BIG IS IT,
KEITH?

PERFECT SPOT. /7

i
4

-~

UH, 24 FEET LONG
BY 20 FEET WIDE.

ACCORDING TO THE BROCHURE, THIS
COMPANY CHARGES BY THE CUBIC FOOT.
AND I FIGURE THE APARTMENT COMPLEX

CAN AFFORD UP TO 650 CUBIC FEET.

19



Measurement 1: Volume of Prisms (continued)

A 650
FOOT POOL? /" rugjc FEET, KEITH. THINK
AWESOME! | ~ RECTANGULAR PRISM.

OH, WELL, HOW BIG
A POOL IS THAT THEN?

" LET'SSEE... V' Lmm.. poyou )

WE MEED ROOM
FOR POOL CHAIRS
AND WALKING
ROOM, RIGHT?

THINK S/X FEET ON
EACH SIDE WOULD
BE ENOUGH?

T il

OKAY. SUBTRACT & FEET
FROM BOTH SIDES OF THE
LENGTH OF THE PATIO...

—_ [ AND FROM
) "\ THE WIDTH...

HOW DEEF
SHOULD IT BE?

WE KNOW THE LENGTH AND WIDTH...
WHAT’S THE FORMULA FOR FINDING THE
VOLUME OF A RECTANGULAR PRISM?

V= LWH, RIGHT? VOLUME EQUALS
LENGTH TIMES WIDTH TIMES HEIGHT.
OR, DEFTH, SINCE IT'S A F'DDL_.HH/

SO MULTIPLY & BY 12 BY —
100, AND SEE WHAT WE GET.

L

~

YOUWANT A )} 1M THINKING OF GETTING
POCL THAT’S ocT
100 FEET AP o one

GIANT ONE.
__./

DEEF?

IT’LL EAT CARS.

20



Measurement 1: Volume of Prisms (continued)

THAT WOULD BE 8,600
CUBIC FEET. SCALE IT
BACK A BIT, YOSHI.

8 TIMES 12 TIMES 4 IS,
UHM... 384 CUBIC FEET.

SPOILSFORT.
HOW ABOUT 4

FEET DEEP, THEN?

THAT/S WAY TOO SHALLOW. WE DON'T
WANT A WADING POOL. I NEED TO
BE ABLE TO CANNONBALL!

TRY 8 FEET.

TOC DEEP. 77

8 TIMES 12
TIMES 7 IS &72.
AW/ SO CLOSE!

SO THEN, IF IT’S
& FEET DEEP...

YES! LET'S GO
SEE THE MANAGER!/

THEN THE POOCL IS
576 CUBIC FEET.




Measurement 2: Similar Figures

Candace, Jonathan, and Alejandra in 7
L l
]! ﬂ
> ; No way, _ — A
That waterslide Jonathan.
i huge! It must be :
50 feet high! @.J{@ f
_
A
[ N
- } ;
._-:_:,r’ ) i 1 i .'f | —
) ]
S Let's | ,ll
T find out... | a
' I’] Your shadowis
q tiles long, Alejandra.
They are each & inches long,

oo that means your chadow
ic 4 lE feet long.

_-"r aFT

| know I'm exactly
5 feet tall, and if | stand

next to the waterslide, we can
meagure both chadows.

. L

Yeah, and the
waterslide shadow is
45 tileg long.

So how high
is the slide?

Your Turn!
Now it's up to you
to find the height of

the slide! /

Thig must be
22 %fut long.

22



Measurement 3: Scale Drawings

LS LLLCETLEIN

wow’
THAT LOGO’S
AWESOME,

YEAH, THANKS,
I CAN’T WAIT TO

SEE IT PAINTED
ON THE GYM
WALL.

with Karen and Diego

HAVE TO) IEURE THE DRAWING 1S
e LTS
MAKE IT B/G
_ENOLIGH. THE SCALE FACTOR FOR

THE ENLARGEMENT

BIG W/LL THE
DESIGN BE ON THE
GYM WALL?

WELL, WE’LL
NEED TO FIND
THE AREA OF THE

DRAWING, ENLARGE

/~ THEN WE’LL
HAVE ONE HUGE,
5 CRANKY MAMMAL

' MASCOT ON
s \ THE WALL/

et

o

YOUR TURNS
NOW IT’S UP TO YOU TO FIND THE
AREA OF THE LOGO ON THE GYM WALL,

b

23



0 Your OWioe

Measurement

Read each question. Then fill in the correct answer on the answer
document provided by your teacher or on a sheet of paper.

a A triangle with an area of 32 square

24

centimeters is dilated by a scale factor
of 2. What is the area of the new triangle?
A 128 cm? C 64 cm?

B 96 cm? D 34 cm?

A rectangular swimming pool will be
bordered by a walkway that is 3 feet wide,
as shown. What is the area of the pool?

22 ft
14 ft 3
3t}
F 721t H 308 ft?
G 128 ft? J 560 ft?

A manufacturer of cans of tuna decides
to enlarge the radius of the can by a
factor of 3. The height of the can will
remain the same. If the original can of
tuna has a radius of 1.5 inches, how
many times greater will the volume of the
new can be than the old one?

1.5in. 45in.

W >
© w
O
N
\I

G Sunil built a scale model of the Space

Shuttle. The length of the model is
27.6 inches and the wingspan is
11.7 inches. If the actual length of
the Space Shuttle is 184 feet, how
wide is its wingspan?

F 434.1 ft H 92 ft

G 126 ft J 78ft

The two trapezoids below are similar.

3.5in. 8.4 in.

What is the ratio of the area of the
larger trapezoid to the area of the
smaller trapezoid?

A 84:35 C 576:1

B 49:1 D 70.56: 1

Find the approximate volume of a
cylinder whose height is 11 inches
and whose base has a radius of

4 inches.

F 138.16in> H 552.64 in
G 276.32in> J 1,519.76in?

An 13-foot ladder is leaning against
the side of a house. The bottom of the
ladder is 3 feet from the base of the
house. About how high on the side of
the house does the ladder reach?

A 181t C 12651t
B 13.93ft D 8ft



Statistics and Probability 1: Sampling Methods

thai,:y,,,l’i_;s“a,;\g}nﬂ,!sql_m{ﬂ[::

? SN '-:fge‘rhany, you'll be up first, '
b = then Mieko, Isabel, and...

are half-empty this season?
It seems like more people came
to watch us last year.

AN A

= d

i

Warming up for the
Eagles' 2nd home game.

- /Maybe we should do‘aﬁ\
Ksurvey to find out.

I wish I knew. It'sa g
shame, too, since you girls
are playing so well.

! You mean like a poll?

x.{/"_,_ \\

Sure. We could ask everyone on
= the team, plus catch some people
= =W ba) o in the stands right after the game.

—| A survey is proposed. =L o T £y
— - = — - e N __'_'\."|_'{-;_ —_l'._\jl'f.--

25



Statistics and Probability 1: Sampling Methods (continued)

I
e

P ._:___ﬂ[_"\,-'-f_ ||" II.I'/
/ That would be easy to do,
T f e
= and we'd get some answers |\

back quickly.

A1

The only problem is,
everyone here is already
a fan, so we'll only get

l-l..._...—-' one point of view.

IS rva i an

This type of sample would be
biased, and therefore not random.|:

This would be a convenience ‘

FARN

sample, since the members of the

sample are easily accessed.
e

— L2 o e I

But if we mailed a survey
to everyone, most people
wouldn't even mail it back to us.

| ||f I bet they
would answer questions f
from us in person.

’/E 7 Qb)/ /

- That wouldn't give us
\| much to work with. But every
20th house would be enough. /

A volun‘rary response sample involves
only those who want to participate.

7/

That would take
forever. How about |
\every 200th house’ b

g

You're right. If we went
to every house in fown,
wed get a lot of mfo

f‘s\\

Thas is an unbuased random sample (e =
h | M7 T [ L




Statistics and Probability 1: Sampling Methods (continued)

—

|';:\,.

The following Saturday
afternoon, a random sample |5
is faken by the team.

e 04 PPN |

AN

The Farm Team over in Clarkfield
plays on Friday nights, foo. I'd
come see you if I could, but
T've got season tickets this year,

We're down to our last four *
houses. Then let's go to

. Lisd's and tally the results. ;

. . i
\_will let us switch our schedule? /'

We've heard that same thing
a lot today. I wonder if coach

Looks like the whole town
is here to see us tonight!

e A EL R DR

K

That survey really paid of
_Go Isabel! Great hit!

Iy

.= I.‘H'-
-1 {5’-',?' = = !
= %_NJZE\J: ‘-'..\'" l‘bqil -F' i
LAY [Tw
. "'r Y _i}_'n | II{
s 20 LU
L7 .\. #a
SO\
Y, S
e =

f.
<

Later in the season, now on Thursday hight.f

R a—
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Statistics and Probability 2: Probability

YES/! THAT'S MY
TWELFTH BASKET
OUT OF TWENTY.!

NOT BAP...OF
COURSE, I MAPE
FOUKRTEEN ouT
OF TWENTY.

HICO ao TRENT v:
% NOIEING
— BUT WET

OKAY, HERE'S THE PEAL: WE'LL LEAVE
AFTER WE EAZH SINK TEN MORE.

FIGUEE WHAT O
You MEANT

HOW LONG
WILL THAT
TAKE?

FROBABILITY , MAN! BASEP

ON WHAT WE'VE PONE 50 FAR, WE CAN PREPILT YOWR RNV

HOW MANY SHOTS WE EAZH NEEP TO .
NOW IT'SUPTO YOU

TAKE TO GET TEN IN.
T0 SOLVE THE PROBLEM!

20, UH, PIF YOU BRING
FAFER ANP PENCILS?

28



Statistics and Probability 3: Scatter Plots

\ T love hur;ﬂe ruc@- Gisele‘,\{ulin, Nf_'_r_hqn. and Lorenzo in. ..

-

we'll time the twelve
runners with these...

| number of hurdles
A\ | each runner knocks
.| down as they go by!

—= -

And also record the L

Runner | Mumber of Hurdles | Finish Time
Knocked Down {seconds)

B3|l | SRS L3RS S R3] = | S| S | S
.
(4]

P

1

Your turn! Now it's up to you to determine
if there is a relationship between the number
of hurdles knocked down and the finish time!

29



0 Your OWise

Statistics and Probability

Read each question. Then fill in the correct answer on the answer
document provided by your teacher or on a sheet of paper.

0 The scatter plot shows the relationship

30

between the number of hours spent
practicing the piano and the number
of mistakes made during a recital.

Hours Practiced and Mistakes Made
1

Number of Mistakes Made
— N W DHUITO N OO OO

o

12345678910
Number of Hours Practiced

What trend is shown in the scatter plot?

A There is no trend shown.

B As the number of hours practiced
increases, the number of mistakes
made increases.

C The number of hours practiced is
equal to the number of mistakes
made.

D As the number of hours practiced
increases, the number of mistakes
made decreases.

What is the probability of rolling a 4 or
a 5 on a fair number cube numbered
1 through 6?

F
G

W= o=
(=
EINNTARSITN

e A city planner randomly surveyed 220

adults visiting the city park and found
that 88 of them visit the park at least
once a week. On average, about 760
adults visit the park daily. Of these, what
is the best estimate of the number of
adults who visit the park at least once

a week?

A 220 C 304
B 286 D 350

The table shows the sales for a flower
shop for five weeks.

Week | Sales
1 $525
2 $488
3 | $602
4 $627
5 $412

Find the mean of the data set.

F $530.80 H $627
G $525 J There is no mean.

The number of miles Marcia ran on each
of eight consecutive days was 2, 1.5, 4,
2.5, 3, 2, 1.5, and 3. If she runs for six
more days, which is the best prediction
for the number of days in which Marcia
will run for more than 2 miles?

A about 2 out of 6 days
B about 3 out of 6 days
C about 4 out of 6 days
D about 5 out of 6 days



Mathematical Reasoning 1: Draw a Diagram

Gavin, Natane, and Tadeo in
GETTING READY FOR SPAGHETTI

Hey: Gavin! Friday night is the
Come and sit big spaghetti dinner
with us! Fundraiser for the
orchestra!

da;’s from now, and assignment
we're in charge of measuring
the table set-up. tables.

That's just three | think Natane's

was
the

Y Yes it was!
The tables are
8 feet long and
3 feet wide.

know that each
table will seat
© guests.

Tadeo and |

It's 7@ feet long
4e feet wide.

and the wall.

measured the gym.

and
Our instmctiohﬁ<
say we reed at least
Y feet between ary
sicde of the table

4 Also, there's a
minimum distance of
4 feet between
tables.

| think we
have all of the
information we
need now.

the longer wall, how many guests
can we invite to the dinner?”

If we place the tables widthwise along
the shorter wall, and lengthwise along

31



Mathematical Reasoning 1: Draw a Diagram (continued)

Let's make &
diagram of the shorter
wall; to help us place
the tables.

from the walls; and the space
between tables should be Y feet.
Each table is 3 feet wide. 7

The tables should be Y feet \

He feet

e b b i i
* & i

Ut 3R Uft 3/ Uft 2/ 4t 3/ U4ft 3/ Ut 3R/ UR

So, we found that © tables can be
placed widthwise along this wall.

oy
1 | s This is our diagram
mE: for the longer wall of
Then we repeated this e the gymnasium.

process for the longer Il
wall, placing the tables luw
lengthwise along it. i

&ft

It shows that
we can place &
tables lengthwise
along this wall.

&ft

ICL

eft
[ un
eft
[ un

8ft

fur
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Mathematical Reasoning 1: Draw a Diagram (continued)

e

{—
—
qu—
-

Py
L

P

‘Hi—tHi—in—rHi—l"! ¥

There are © tables in
each row along the short
wall, and © tables in each
row along the longer wall.

So; @ total of & % &
or 2& tables can be placed
in the gymnasium.

At © guests per table,
we can invite a total of
3e % &, or 276 guests
to our dinner!

More importantly, we
can sell 276 Zickets
to raise money for

the orchestra!

It also means we'll have
to move 276 chairs’
We should start on
that today/!

about the
chairs!

We forgoet
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Mathematical Reasoning 2: Scale Drawings

’) Jacinta, Eric, and Fatima in: HERE TO THERE (‘.

COULD WALK
TO THE ART
MUSEUM. HOW

FAR CAN
N T BE?

!

YEAH,
THE SUBWAY’S
KINDA EXPENSIVE.
LET’S HOOF

=

ACCORPDING
TO THIS MAP,
IT’S LIKE...

- TWENTY
TWO BLOCKS
\ FROM HERE TO THE
\ WE NEED A

—'\ TELEPORTER

SCALE:

THERE’S A

SCALE AT THE
BOTTOM OF
THIS MAP.

MAYBE
WE COULD
USE IT TO FIGURE

JET PACKS/
THAT’S WHAT
WE REALLY

OUT THE DISTANCE
FROM HERE TO
THERE.

-2;..\
YOUR TURN/S
NOW IT’S UP 7O YouWw TO
SOLVE THE PROBLEM.
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Mathematical Reasoning 3: Four-Step Flan

PAPER SINCE TADEWI BEAT
BEATS YOU AND ME, LUKE,
ROCK, LUKE. SHE CHOOSES
- WHAT TO DO.

GREAT! T HAVEN'T
BEEN THERE
IN AGES.

LET'S CHECK OUT
THE FERRY SCHEDULE.

FROM,

==

AND THE FERRY RIDE
IS REALLY COOL.

g

— .
AT
mquﬁEg&,c

gy

e L e 2
LAl Lad

< i:\i!'q,l N

TO FROM

WE'D LIKE HELP US SOLVE THE

ISLAND  1SLAND TO BE PROBLEM!
9:56 am 10:24 am BACK BY WHAT'S THE LATEST
12:48 pm  1:16 pm TO THE ISLAND?
1:44 pm 2:12 pm
2:40 pm 3:08 pm
3:36 pm 4:04 pm
4:32 pm 5:00 pm

- 5:56 pm

Ride time is 18 minutes
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0 Your OWise

Mathematical Reasoning

Read each question. Then fill in the correct answer on the answer
document provided by your teacher or on a sheet of paper.

0 The figures below form a pattern.

36

L\ chkscmlj\
4cm
7cm

3cm 5cm

What would be the approximate length
of the hypotenuse of the next figure in
the pattern?

A 9cm C
B 10cm D

13.45 cm
15cm

Which statement best describes the
pattern of the terms in the sequence
below?

1.7,2.6,3.5,4.4,53, ...
F The sum of the ones digit and the
tenths digit is nine.
Add 1.1 to each term.
Subtract 0.9 from each term.

The sum of the ones digit and the
tenths digit is eight.

«I o

At a restaurant, Cassandra’s meal totaled
$14.85. She decided to leave a 20% tip.
If she paid with a $20 bill, what is the
first step to determine the amount of
change that Cassandra should receive?

A Find 20% of $14.85.
B Find $20 — $14.85.
C Find 80% of $14.85.
D Find 20% of $20.

4.

6.

Which figure does not belong in this

group?

AN

G ’ J F =
bd —

In the figure below, the diameter of the
circle is 6 inches.

Which expression represents the shaded
area, in square inches?

A 62-t-62 C 62+ 7.3

B 62-w-3 D 122-7.6?

Jeremiah’s car averages 27 miles per

gallon of gasoline. What other information

is necessary to find how much Jeremiah

will spend on gasoline for a 850-mile

trip?

F the cost per gallon of gasoline

G the number of hours traveled

H the number of times Jeremiah plans
to stop for gas

J the size of the gas tank





